EERERLARRDKSE

wi =

IHa

cAfi8]

1199

KB (EBET I H)

O0V&%m

HﬁTE‘EﬂF’

D¥ﬁ£ﬂ? %%m» Wl/\»

LEZREHETHREZRECEIAVGE R, EX.BXR. ERELEADLEAFHETHAL

L &bl
BR%E: AN ERF® A BIGFE (BHEERE) A
@ A5 55 B BRE (10adp7=Y)

B 18 2H 3H 4H 5H 64 7H 8H 9H 108 1148 128 &t
e E[R[ R E[R[F|E[R][F|[E[R[F|E[R[F[E[R][T h E[h[F[E[R[F|E[P[F|E[R][F|E[RP][F]| =*
BIEER- R 0.0
BE 0.0
g, KhE 0.0
JCAE - 1B BE - FXAE 0.0
FHHEZ 0.0
HE xR 0.0
BEBEENY 0.0
KEHE 0.0
iR 0.0
EZ1% - SR - Ty 0.0

0.0
0.0
0.0
= £t 00| o00|00]00]|00]00]|]00]00]00]00]00]00|00]|00(00]00[o00]o00 0.0 00| 00]00]|00]|00]|00]|]00]00]|00|00]00[00]00]|o00][o0 49 6
XHEEFRIE. AR A OHTEHA,
L 2o 20
% BrBER. SEEKARER
S EHAR RIS
A 1B | 28 [ 38H | 4H [ 5H [ 6A [ 7A | 8H [ 9H [ 10A [ 11H | 128 e
) LIEPI'FILIEPI'FI:IEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIEPI'FILIEIJI'FOﬂi
A
[OF 2]
EfHAR (0] © | | WURFE
U= (kg/10a) 482 482
B {fi(F/kg) 219 219
23(H) 0 0 0 0 0 0 0 0 105,558 0 0] 105,558
IJ;‘“%(H) 0
Hi 105,558
SEHE0aH-Y) S E#EH0adH-Y)
e BE ] ERER 8 e ] BE 25
[ 1 0 H i
Kt
At 19,980 |t 0
SEHE0adHT=Y)
24 EAE ke BE i3 HRmE EX O XILWFEHH0adHht=Y)
0 [ %% | FBH | Woces | =& |
0
0
0 I:lE+
0
0
0 S TEYEE(10ad1=Y)
(23 Ef] BE =5
St 12,775 0
XERE={EFE x Bl 0
QT DhFEMFLE(10adh 1Y)
e fikia) il %E FERER =3
&it 1,317
SZDMDER
&% Ex
&it 0
KEF=—BExBE-FREXK |t 2,414
SEEHN0aHI-Y)
& e i EE Bhe EE: ] OHEERE10abH=Y)
0 ZH EX:H
0 [ET 19,980
&t 0 EHE 12,775
ZDEEM 0
0@171:‘:§ﬂ71<§(10a57—b}> EEE 0
e fikid ] BE FERER E3] (B AREBKE 5,520
AV Bl 1 5,520 557 0
SIOFEHE 0
0 BEU s 1,317
0 ZTOMDER 2414
0
0 &t 42,006
&it 5,520 EEREIEHEDNHTHA




